Example 6-2
type LEP_6_2
% "LEP_6_2
% m-file to solve Eample 6-2
%

% x(1)=Ca

% x(2)=Cx

% x(3)=Cb

% x(3)=Cy

% xdot(1)=dCa/dtau, xdot(2)=dCx/dtau, xdot(3)=dCb/dtau, xdot(4)=dCy/dtau

function xdot=LEP_6_2(tau,x)

Cao = .4 ;

X = 1-x(1)/Cao ;

k1 = .0001 ;

k2 = .0015 ;

k3 = .008 ;

Sbxy = x(3)/(x(2)+x(4)) ;

xdot(1,:) = -k1-k2*x(1)-k3*x(1)^2 ;

xdot(2,:) = k1 ;

xdot(3,:) = k2*x(1) ;

xdot(4,:) = k3*x(1)^2 ;

% ic=[.112;.0783;.132;.0786];

% tspan=[0 300];

% [tau,x]=ode45('LEP_6_2',tspan,ic);

% plot(tau,x); title('Example 6-2');xlabel('tau');ylabel('Ca,Cx,Cb,Cy');    

ic=[.112;.0783;.132;.0786]; tspan=[0 300];  

[t,x]=ode45('LEP_6_2',tspan,ic);  

plot(t,x);title('Example 6-2');xlabel('tau');ylabel('Ca,Cx,Cb,Cy');  
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